Coding system model LA

Hydraulic Gear Pump Production.

801...999 |- |1 [LA36|C |[E |IO/F |[V|2 B
* %
% % % * | S5 |* * x| *
* o
o 2 s s
% ok k| — | * " . : & * * v o
pump flow rate at ort connection| Alternatives | Relief valve
Code Type Model 1500 RPM at 0 bar Rotation sense| Shaft form lemge ﬂange Form with valves | pressure

\\\\///

%k %
K x
¥ %
[ U T T T T T
801.....999 Code
Without pulley
2 | With pulley
Shaft section for mounting
6 onto ZF
LA Single
LL | Multiple -banked LA+LA
LD | Multiple -banked LA+L D |1 5 to 80bar
LN | Multiple -banked LA+LO LA gé 2 80 to 175bar
~ 13| 175to250bar
LA| 36-45-54-66-84 v liof
LA Relief valve
Rc|  Priority flow valve
C | Clockwise
CC(| Counterclockwise
R | Reversible LA T-R-F-B-Etc.
oo 5 . :
LA A-B-C-D-E-G-I-J-K-W R
T R F R
Pulley type A 01-05-06-09-10-11-12
LA P-S-T 18-19-23-27-36




General specification model LA

Hydraulic Gear Pump Production.

Hydraulic technical data Gear Pump Type-LA
Pump Flow RATE
(UMimat 1500RPM | 30 | 36 | 40 |45 54 |66 |75 84 |95 |100 | 115
DISPLACEMENT
(CClrev) 20 | 24 (266 |30 |36 |44 |50 |56 | 63.3]|66.6| 76.6
cont MAS P 250 225 1200 | 185 | 175 | 170 | 170 | 150
INTERMITENT MAX.
PRESSURE (bar) 275 250 | 225 | 220 | 200 | 180 | 180 | 170
R.P.M AT CONT.PRESSURE 7500 7300 7900 7000
MAX. RP.M 3000 2800 2600 2200
100bar 500
MIN. RP.M
A 175bar 800 700 600
2s0bar | 1500 | 900 | > | D | X X X X X
Volumetric efficiencies diagram at 1500 R.P.M
100%
99% \
98% x
> 97%
5 96% \\x__k >oee/t
Q
= 95% a8
m TN
(]
K 94% ——
§ 93% 24cc/r
92%
91%
0
9OA)O 25 50 75 100 125 150 175 200 225 250
Working pressure in bar
: Pressure 1n bars
Flow rate and power diagram
5 160 100 150 200 250
= 140
=
. 120 30 | 60— o=
E A A
E 100 25 1 0T 5o L0 =
= 5 ) =
—1 80 20 4 30— 40—+ 150 g
k= 0 251 40 O
= 60 3 15~ oy | 30 | =
= 5|
S 40 / 10 +— 15—+ —120 25:30
7.5 L0 15+ 120
E 2() 5750 Ty 15:10
= T 7 i s
500 1000 1500 2000 2500 3000
Speed in R.P.M.

NOTE : The results have been obtained using ISO VG 46 o1l at 50°

¥




4 General specification model LA

Hydraulic Gear Pump Production.

Pump flow rate at Max . Pressure Max . Speed Min . Speed

1500 RPM at O bar (bar) (RPM) (RPM)
1LA36 275 3000 500
1LA45 275 3000 500
1LAS4 250 2300 500
1LA66 2235 2300 500
1LA&4 200 2600 500




4 Flange type model LA

Hydraulic Gear Pump Production.

FLANGE TYPE. 01 FLANGE TYPE. 06

< D651 -
|
< 0607 , % % T
) / //7__ 040 _ o0
751 040 =% =~ u::J' / // /”/éf % /Agiml
W), == 7t A
4-013
| 1
S e S
/O
’f
= 2-06 | "
1 o I
at| | =
"l.k\
- i ' R
4-MI12x1.5 L35 . o KQ\
114 -
L 134 | e |
L 144,5 i
| 170,5 |
FLANGE TYPE. 05 FLANGE TYPE. 10
< _ Q507 _
s : < 950,757 _
W) == kS / —
o Wi == kK
' & s | D32
p - 4-011 ©
70 2]
Y i'/ \"l
| , | 2-06 || |
T | ] s W | Jala
A - { - HHA Y S RO { O A
1 (© s n e (© e
P \ /’;JJ 111\ };’F
NN 4-M12x1.5 O A \ O~ '
@ | j-"( ) ‘ \\Q 5 1
O — e o N e " 1.
- g S laMings - -
! 150 ) 54

150




D Flange type model LA

Hydraulic Gear Pump Production.

FLANGE TYPE. 11 FLANGE TYPE. 23
B B105¢7 _
* ?58.9 - - 0 //%/rf; — / QWX
. — . %, == ' E&
I é////////%g* == :%ﬁm] K Z Ej 032 &
o 0D, ——— —~ &— | ﬂ
M:’/ \ ¢
P EEE e
\ng | > @ A | Q > C\ r |
) 4'MIZXI1'§5 M/] \M 4-M12x1.5 | 48 4 |
L 149.4 i L 145 N
165
FLANGE TYPE. 12 FLANGE TYPE. 19
ﬂ-“ . D65  _
- o —
= o
\c}" SEC: A— A m" 032 ,, |1Ll ;5 e
Y./ 538 5l
‘ ! 032 _
& ‘
5 g Z-ﬂ\\* £ o
Al , =

' \Z-MIZXIS 2-013
3 144 ;




0 Flange type model LA

Hydraulic Gear Pump Production.

FLANGE TYPE. I8 _ 0825

FLANGE TYPE. 09 B2
T 043 2
_ ©101.6f7 ﬁ %

Y

\O <t
@)

SEC:A-A

| 144 |
FLANGE TYPE. 27 FLANGE TYPE. 36
—
-:rﬂ | - 5 i # ] 9(21508156 F
*W///ﬂ%//f‘ 'ﬁ '///ﬁ B ] I B 5
A- | t L 934
JL SEC:A-A :

2-M12x1.5 =

2-014.25 / 3 M1%%1 5

2-014.25




Shaft type model LA

Hydraulic Gear Pump Production.

(@)}
—
SHAFT EO] SHAFT COl SHAFT GOl = SHAFT GO04
S
O
9 _ 89.5 =
97 _ 40 _ 5 Q 131.4 _
435 36x6x6 | 2.8 S — O]
,25,5 - ﬁ? | i | | " E g NS ﬂ_,;; 0 )
i { | ~ —
g | S | e - == ! |
%0 T 20 % X - S & o5 &
Q | S o« S SIS
1 I ) S

D.P:16/32
Teeth number : 13
Pressure angel : 30°

018,83
M14x15 |

Diametral pitch 16/32
Pressure angle 30°

Teeth number 13

SHAFT EO02 SHAFT C02 SHAFT GO02 SHAFT GO5
99 99
" - 100.1
43,5 =
755 234){300 = 42,1 - - = 48.7 4l
- 36X6X6 | I 35 1031
| (\I‘E L | ' ] : | 496
aN| g [ i i i g - 2 -
¥ CSIG\_ 1|l 1 ' ! ! I 0 \ |
S SHE- Moxl| & S . -
= S g S Q <
S k.
Teeth number:6 Diametral pitch 12/24 ©
Base circle diameter (df)=19.5 |Pressure angle 30°
Teeth number 14
SHAFT EO3 SHAFT CO03 SHAFT GO3 SHAFT G06
99 88,7 108
101 7 )
- 42,1
- B i 36:»(6}«{6= o I Ths — K 27 "
019x4 Sx30° & |, 7] F =l S ; n
151 * ! r— f I m” m" | [N J:GOT
T - 5 S : ::
N?STST | o0 M6xl\ R - = S
ol | N (o |
() ; Q S

D28
MI16x1.5

Diametral pitch 16/32 %401“1351-;5 "
Pressure angle 30° ecth number

Teeth number 13




' )

(i} o4

JI:' .
=

Shaft type model LA

Hydraulic Gear Pump Production.

SHAFT JOI SHAFT WOl SHAFT GO7 SHAFT GI10
134
.60
54 PR T —
-3 - - =
- o0 N.J § Oj“
|8 RE S 3 S
. NP . - -
e 1 :Ezj“:\_{ EC Diametral pitch 16/32 Diametral pitch 16/32
Taper:1/5(5.65°) > — Ap !0 Pressure angle 30° Pressure angle 30°
Teeth number 16 Teeth number 13
Max.driving torque 120Nm
SHAFT AO] SHAFT KOl SHAFT GOS8 SHAFT GI1
89.5
25 113 20
N A 40,5
025x7 — “ P S— - ’
r ol W;j:[ L EEJ \ - !
1 . 3 3 ; l : 2 , |
| ) N - o0 w!!‘}_]
S | J S < 5 S 2
" o S S -
— N
S S S
. S D.P:16/32 Diametral pitch 16/32 Diametral pitch 16/32
Teeth number:13 Pressure angle 30° Pressure angle 30°
Pressure angel 30° Teeth number 13 Teeth number 14
SHAFT BOI SHAFT DO] SH%I;T G09 SHAFT 101
. 112 .
’ - 43
N, - | M6x15
EC . a0 : 0 AL
AP WW I0847 M8x28 im= Sﬁ = 7 <
- = X E— ===
>‘< | 40 _ / S == [ S = 8
' v ___._..._lgé 35 6 DO‘
@ | " ! l ; g £ § Q Growe diameter ©23.
S | Sﬁ
\
x CDW Diametral pitCh 16/32 Module:1.667
Max.driving torque 120Nm S 7 Crowe diameter 24 Pressure angle 30° Teeth number:13
Teeth number 13




- Outlet & inlet type model LA

Hydraulic Gear Pump Production.

Model:B 801 B 809 B 804 B 805

026 T\
e " 3.9 ¢ ) 57 026 . 248 o 048 »
_ N O 019 @& ) O - 051 O @27 g19
© o(Jo | © S —O© o ¢ d o)
& ﬁ __ | O o o )o
4-M8x1.25 O &

O O
4-M8x1.25 8-M10x1.5
4-M10X1 SX : / 4-M8X1.25 4-M8X1.25 Q ?
Inl | Outlet Inlet Outlet 4-M10x1.5/ 4-M8x1.25
S e Inlet Outlet
7727 4 = )
e | 18
16 16 [nlet Outlet
Model:F 801 F 208
@65 @65
D55 055
~— ’ 9235 © © _923.5

Q /) O / c\) f
4-M8x1.25 4-M8x1.25 4-M8x1.25 4-M8x1.25

_ Inlet 1 Outlet
Inlet —_— Outlet 77
16 16
Model:R 801 R 802 - R 807 R 806
Gl1.1/4"
zD 777, >LC 1G
[nlet ( Outlet
\Zr (D48.5
MAX 22 Inlet Outlet Inlet Outlet
Parameter - Inlet 772777 Outlet
imin Camsp | Dase 7
36 172" | 3/4" . AKX ZZasss
45 1/ " 3/ " . 2 i rprass
54 112" | 3/4" ) 7 MAX 22
66 3/4:: 1:: Max 22 Max 22 |
84 3/ I Inlet Outlet




fh J Assemb]y pump model LA

Hydraulic Gear Pump Production.

(13) The set mark 5 consists of

@ l-pump housing

2-Bearings

3-Compensation
4-Driving gear
5-Driven gear

Z
o

Description Qut No. Description Qut
Screw M 12X 1.5 16 Ring |
Washer DIN-6797012 17 Flange
Back cover 18 Needle ring

Elastic pin DIN-1481 06X 10.9 19 Bearing ring
Pump housing sub-assembly 20 Circlip

Gasket 21 Flat key
Flange ] 22 Screw DIN -931 M6X 30

Key 1 23 Washer

Shaft nut 1 24 Top polea

Circlip 1 25 Pulley I
Guid gasket 1 26 Gasket 1
Oil seal 1
O ring 2
Anti-extrusion gasket 2
Back -up ring |

| N =&~

ol ool N O L B W —

wn | Wl = o




17 Assembly double pump model LL

Hydraulic Gear Pump Production.

O OINONG ®? W 20D 4

RN

Part numbers 6-11 consists of:
1-pump housing
2-Bearings
3-Driving gear
4-Driven gear
S-Compensation

No. Description Qut No. Description Qut
I Screw  M12X 1.5 4 16 Guide gasket 2
2 Nut M12X 1.5 4 17 Circlip 1
3 Washer DIN-6797012 4 13 Oring 4
4 Back cover I 19 Anti-extrussion gasket 4
> | Elastic pin DIN-1481 @6 x 10.9 6 20 | Double pump flange (oil seal) *
6 | Pump housing sub-assembly 1 21 Coupling
yi Gasket 4 22 Double pump flange ]
8 Oil seal washer I 23 Gasket 4
9 Oring ©054.5x2.5 ‘

10 Guide ring

11 Pump housing sub-assembly 1
12 Flange 1
13 Oil seal 2
14 Key I
15 Shaft nunt 1




12 Assembly double pump model LD

Hydraulic Gear Pump Production.

30-29 - EEs= Ef , L g

(i)

= Part numbers 5-12 consists of:
1-pump housing

2-Bearings
3-Driving gear

4-Driven gear

5-Compensation

No. Description Qut No. Description Qut
1 Screw M10 4 17 Guid Gasket 1
2 Washer DIN-6797@10 4 18 Circlip 1
3 Back cover 1 19 Oring 2
4 Elastic pin DIN-1481 @4x8 2 20 Anti-extrussion gasket 2
5 Pump housing sub-assembly 1 21 Double pump flang 1
6 Guide gasket I 22 Screws M12x1.5 4
7 Circlip 1 23 Washer DIN-6797@12 9
] Oring D46x2.5 l 24 Oil seal I
9 Elastic pin DIN-1481 @6x10.9 4 25 Double pump flange 1
10 Coupling l 26 Screws DIN-912 M8x25 3
11 Guide ring 1 27 Washer DIN-679708 3
12 Pump housing sub-assembly 1 28 Gasket 2
13 Flange 1 29 Anti-extrusion gasket [
14 Oil seal | 30 Gasket I
15 Key 1 31 Gasket 2
16 Shaft nut 1 32 Gasket




13 Assembly double pump model LN

Hydraulic Gear Pump Production.

(ie)

bl g | 1
.’ ®Part numbers 5-12 consists of:
w 1-pump housing

2-Bearings

3-Driving gear

4-Driven gear
S-Compensation plate

No. Description Qut No. Description Qut
I Screw MS 242 16 Oring )
2 Washer O8DIN-6797 2-2 17 Anti-extrussion gasket 2
3 Back cover I I3 Gasket 2
4 Pump housing sub-assembly 1 19 Double pump flang ]
5 Double pump flange 1 20 Coupling 1
6 Guide gasket 1 21 Screws M12X 1.5 4
7 Circlip l 22 Washer DIN-6797@12 4
8 Guide ring 1 23 Oring D27.7X2 I
9 Elastic pin DIN-148103X 10 | 24 Oil seal l
10 Pump housing sub-assembly I 25 Gasket 2
11 Flange I 26 Gasket 2
12 Oil seal 1 27 Anti-extrusion gasket 2
13 Key 1 28 Shaft nut 1
14 Guide gasket I 29 Gasket 2
15 Circlip 1 30




‘ A Pump with flange type 01 Model LA

Hydraulic Gear Pump Production.

801-1LA...(C/CC)AOIR SHAFT A&B&C&D&I(01)
OUTLET & INLET R 801
) i ] FLANGE 01
SHAFT A .49 | B -
| 128 __
|
]
— i
O {3
=S o
v \J “ J
| J 409 -
EC -7
1 Ap 110
SHAFTC % — SHAFTB SHAFT I |Growe diameter @23.6
B EC N Module:1.667 ]
i = AF 1647 Teeth number:13 \ o
-'“_\ ]
i rNH ; ]
Eﬂlﬁ W S >< ﬁj —
S ‘ i —
| Méx1s/ | 43 _
N 1.5 4
/ 11 / : = 62 -
19 Max.driving torque 120Nm
SHAFT D .
Growe diameter (924 i | Model A B OUtle(%SP) Inlet(B SP) Weight
e \ | 801-1LA36CAO0IR | 133.3] 66
IVl X£0f 1 " "
|  —— E 801-1LA45CA0IR | 138.3 12 3/
" 4103 - 801-1LAS4CAOQ0IR | 143.3 71
a7 1| ) 801-1LA66CAOIR | 149.8 . ’
/ 801-1LAS4CAOIR | 159.3
In the reversible pumps , threaded ports available R only .both ports same dimension that corresponds to the suction dimension
The drawing above shows a pump turning clockwise .For anti -clockwise rotation sense ;replace C by CC in which case suction and pressure ports shall be inverted




15 Pump with flange type 10 Model LA

Hydraulic Gear Pump Production.

SHAFT C&E(01)
FLANGE 10
) A .
g B 120,5 _
SHAFT E B 128 L85
019x4 5 . M
jw: o [ sl : )

O\
S0
%
12,2
_|_IM14x1
@
| Lﬁ

128
150

1
\Wisa
»,;\J
N
0)3
(Jo
O
144

—

) S \Q O/ "

jEcl 10 14-011
- Fir torque 11-12mkg

SHAFT C )

V.

Outlet Inlet

Model A B C D 0 P

Weight

801-1LA36CAI0B [133.3 | 66
801-1LA45C A1OB | 138.3
801-1LA54C AIOB | 143.3
801-1LA66C AlIOB | 149.8
801-1LA84C AIOB | 159.3

721 | 19 | 40 | 26 @ 51

In the reversible pumps , threaded ports available R only .both ports same dimension that corresponds to the suction dimension
The drawing above shows a pump turning clockwise .For anti -clockwise rotation sense ;replace C by CC in which case suction and pressure ports shall be inverted




16 Pump with flange type 23 Model LA

Hydraulic Gear Pump Production.

SHAFT JO1
801-1LA....(C/CC)J23F OUTLET & INLET F 801
FLANGE 23
& Bl e A <
= B
35_5___20_ 28
D19x5 Ol
| u*:\\' i i |
| 2 \ D55
| = @26 1
J R | [ D o o
gﬁ"'%{ el ® \ ©
2 Fa <019 o 0
- @) il
Taper I/S/A % 4—M8x1.25/
| o L ¥
@4-M12x1 5 4-M8x1.25 / ij]
=T Q S
AF ~ Fir torque 11-12mkg \4-011
Outlet Inlet

Model A B

C D 5 B Weight

801-1LA36CJ23F 133.3 | 6l
801-1LA45CJ23F 138.3 | 4.5
801-1LA54CJ23F 143.3 | 66.5
801-1LA66CJ23F 149.8 | 69.5
801-1LA84CJ23F 159.3 | 77

19 40 26 51

In the reversible pumps , threaded ports available R only .both ports same dimension that corresponds to the suction dimension
The drawing above shows a pump turning clockwise .For anti -clockwise rotation sense ;replace C by CC in which case suction and pressure ports shall be inverted




‘ Pump with flange type 19 Model LA

Hydraulic Gear Pump Production.

SHAFT WOI
801-1LA....(C/CC)WI19F
( ) OUTLET & INLET F 801
FLANGE 19
- A =
& ’ = = 106 =
7,2 jZ’L" 12,8 ~ 82 _
|1 3,2 _ ——
2 I - - =
| D55
T 026 = A
| - J o
N e TR
S8 oL © S
! & E ©
| _—r / ﬁ ? 4-M8x1.25 /
) \ / @ M 1ok S 4-M8x1.25] j]] M1 2x1.5\§ }M
\ / 7 ) ' §
. Of i 12211
* F b — Fir torque 11-12mkg
s S
7
20_ (
A ‘ 97;’-7,% %é
S %8]
7
% i(li 10 Max.driving torque 120Nm
1 [ 4 I
Outlet Inlet .
Model A B C D I . Weight
801-1LA36CWI9F |134.3 | 62
801-1LA45CWI19F |[139.3 | 655
19 35 26 35
801-1LA54CWI19F |144.3 1 67.5
801-1LA66CW19F |150.8 | 70.5
801-1LAB4CWI9F [160.3 | 73
In the reversible pumps , threaded ports available R only .both ports same dimension that corresponds to the suction dimension
The drawing above shows a pump turning clockwise .For anti -clockwise rotation sense ;replace C by CC in which case suction and pressure ports shall be inverted




- =
il r N
= a :
| e

Pump with flange type 09 Model LA

Hydraulic Gear Pump Production.

801-1LA....(C/CC)GO9B SHAFT GO1&KO!
801-1LA....(C/CC)KO09B OUTLET & INLET B 801

FLANGE 09
- A -

gg ) __:21 : B _ I ) 174,5 _

o 21,5 = 146 -

Eg 05 %_5_ 12,8 :

Q9 I

/ \ 89

ol s

~ 88 -2
0 Q3 ¥ -
S | = X
& S o )o
' ~ @Sl ol Q
\ /@ 4-MI10x1.5) |
\\ -M12x1.5 | M12x1.5
\ -
l: 82 g | EC110 ; _
| |AF < Fir torque 11-12mkg
D.P:16/32
Teeth number:13
Pressure angel 30°
OUtlet Inlet

Model A B

C D P I Weight

801-1LA36CA09B 1348 | 67.5

801-1LA45CA09B | 139.8
801-1LAS4CA09B | 144.8
801-1LA66CA09B  |151.3
301-1LAS4CA09B  |160.8

19 40 26 51
123

In the reversible pumps . threaded ports available R only .both ports same dimension that corresponds to the suction dimension
The drawing above shows a pump turning clockwise .For anti -clockwise rotation sense :replace C by CC in which case suction and pressure ports shall be inverted




Pump with flange type 27 Model LA

Hydraulic Gear Pump Production.

SHAFT GO0O3
302-1LA66CCG27R OUTLET & INLET R 802
FLANGE 27
- Min 136 -
3 131 _ = 146+0.1 ga:
63,6 _ _
411 115 = i
9.5 E.C
S R
‘ | 058 | “
[TDepth:Smm F
0/ O - ||
O| | ]
§ § lD
> = = D14.25
' =
\ / : G1.1/4"
| @4 Mizx].> Drill:039.2 ilil St
/ useful thread max 22 J 1,
082 e Inlet Fit torque
- 11-12 mKg
Spline data
Diametral pitch 16/32
Pressure angle 30° Dept
Teeth number 13
(31"
111:(930.5
use]flul thread max 22
Outlet
. CONT. (bar) | INTERMITENT MAX.
Model Displacement CC/r. | nraw PRESSURE | PRESSURE  (bar) MAX. R.P.M
802-1LA66CCG27R 44 200 225 2800
In the reversible pumps , threaded ports available R only .both ports same dimension that corresponds to the suction dimension
The drawing above shows a pump turning clockwise .For anti -clockwise rotation sense ;replace C by CC in which case suction and pressure ports shall be inverted




il 1
& Y
I'F S Sl

Pump with flange type 36 Model LA

Hydraulic Gear Pump Production.

2-014.25

SHAFT GO35
303-1LA84CCG36FR OUTLET & INLET FR 803
FLANGE 36
) 1460, 1 _
556 21,5 v » = = = g
- -—2=  E.C. Fit torque 110-120NM |
B R 109 /
e II i
S5 | |6u© O
5/ g | |
‘5 \ I "
| 3
| P78 - |
\\ 4-M12x1.5 4-M12x1.75 -
. 082 _ < 83 . |
/ Inlet
Spline data . L2k -
Diametral pitch 12/24
Pressure angle 30°
Teeth number 14 1-1/16"X12UNF /
Outlet
, Cont Intermitent ;
Pump Model Displacement Max Pressure | Max Pressure MAX Speed i T
(cnitv) (bar) (bar) (rpm) (rpm)
803-1LA84CCG36FR 56 175 200 2600 500

In the reversible pumps , threaded ports available R only .both ports same dimension that corresponds to the suction dimension
The drawing above shows a pump turning clockwise .For anti -clockwise rotation sense ;replace C by CC in which case suction and pressure ports shall be inverted




Pump with flange type 10 Model LA

Hydraulic Gear Pump Production.

SHAFT EO1
804-1LA36CCEI10B OUTLET & INLET B 804
FLANGE 10
I\ 4:'%72 5| 2
. Fit torque 110-120NM
@19:-;:_12 \ 2&2_‘& \ 4-011 |
E \ W ! % O\ |
aime 0 /A O

= i 026 D48 1 -

e o/ ] &
1:8/ — g fud

5
- O msx1.2s |
348 T « 0 ® *
izl 019 O Inlet ;D |
m O — ; " \Q Q/ '
L 082 _ e 18 -J 4E.C. 110 L 98,5 J
o 56,5 AF. s 120.5 _
_ 136 |
Outlet
Cont Intermitent )
Pump Model Displacement Nt P{zssm Max Pressure MAX Speed Min Speed
(cm/v) (bar) (bar) (rpm) (rpm)
804-1LA36CCE10B 24 250 275 3000 500

In the reversible pumps , threaded ports available R only .both ports same dimension that corresponds to the suction dimension
The drawing above shows a pump turning clockwise .For anti -clockwise rotation sense ;replace C by CC in which case suction and pressure ports shall be inverted




Pump with flange type 1 8 Model LA

Hydraulic Gear Pump Production.

SHAFT G04
805-1LA5S4CGI18B OUTLET & INLET B 805
FLANGE 18
~ 190,3 _
L399 I 62 ! l 24 il —_ "
i L. 125 I - Fit torque 110-120NM ) 106.4 _
4 AF 109 j

&7\

'8

082,5
O

x
O
O
144

)

Q NO51
@\ / @ 4-M10x1.5| bE
S ~_714-M12x1.5 N Inlet J v
82 040
- - o
Spline data o()o
; ; 019
Diametral pitch 16/32 /O
Pressure angle 30° AMBx1.23
Outlet
Teeth number 13 —
Cont Intermitent .
Pump Model Displacement Max Pc;r;ssure Max  Pressure MAX Speed Min Speed
(cm/v) (bar) (bar) (rpm) (rpm)
805-1LA54CG18B 36 225 250 2800 500

In the reversible pumps , threaded ports available R only .both ports same dimension that corresponds to the suction dimension
The drawing above shows a pump turning clockwise .For anti -clockwise rotation sense ;replace C by CC in which case suction and pressure ports shall be inverted




ﬁ"r“f& s E{

/> Pump with tlange type 10 Model LA

Hydraulic Gear Pump Production.

SHAFT CO1
806-1LA9SCCIO0OR OUTLET & INLET R 806
FLANGE 10
- L - 120,5
" 16 _;Q: 48,9 = _ 98:5 _ &

oy
(B

it

—

( N
36X6X6 © A

(|
is] 1 0 o |8
gezses] gﬁ]ﬁ j [_1
N ®\r S )
() 20\ ¢
- 40 _| M6~
48,9
Qi O O
Inlet S |
L kQ4 o1l < '
-Fir torque 11-12mkg %AF 110
Outlet  3/4"G »
INTERMITENT MAZX,
Model Displacement CC/r. CONT .MAX. PRESSURE SEEs TS bar) MAX. RP.M
( bar)
806-1LA95CCI10R 63.3 150 175 2200

Volumetric efficiencies diagram at 1500 R.P.M

100
99
2 o8
8
L
e 97 ~ —63.3cc/r
[
= 06
-~ 95
0 25 50 75 100 125 150 13t 200 22 250
Working pressure in bar
Flow rate in I/min.at O bar Pressure in bars
L 100 150 200 250
140 8
50 —
120 30 60 ——
a.
40 —+
= 100 25 —— 50 ——
3 T Z
g 30 20 — 30 +— 40 —— —+-50 5
E . T
S 15 - 130 40 E
= 20 ——
§= 25— 130 =
w40 10 —— 15 —— —-20 75
= 7.5 —— o 15 120
Z 20 P I a5 10 BT s
= 3 — -T5 b i
LL. 2 2t s 5 ?.53 EES
500 1000 1500 2000 2200 o S - o
Speed in R.P.M.

NOTE : The results have been obtamned using 1SO VG 46 oil at 50

In the reversible pumps , threaded ports available R only .both ports same dimension that corresponds to the suction dimension
The drawing above shows a pump turning clockwise .For anti -clockwise rotation sense ;replace C by CC in which case suction and pressure ports shall be inverted




/ /1 Pump with flange type 10 Model LA

Hydraulic Gear Pump Production.

SHAFT COl1
307-1LA100CC10R OUTLET & INLET R 807
FLANGE 10
173
B TF. 2 B = 120,5 N
K ) 0" 48,9 98,5
S
4 |
36x6x6 Lo
15— | ~
<t
e | U"'}n ~—
-1 3] & -
T 8818
8 - 40 _\M6
48,9
O O
Inlet O !,
i L ! Q ol '
|Fir torque 11-12mkg ﬁEC1 10 4-011
A e
Outlet
/4G =
INTERMITENT MAX.
Model Displacement CC/r. [CONT .MAX. PRESSURE PRESSURE (bar) MAX.R.PM
(bar)
807-1LA100CC10R ELE 150 175 2200
Volumetric efficiencies diagram at 1500 R.P.M
100
99
% s \h—"\ _—66.6¢cc/r
m
= 96
~ 95
0 25 50 fE 100 125 150 175 200 225 250
Working pressure in bar
Flow rate in I/min.at O bar Pressure in bars
L) 100 150 200 250
W
140
50
120 30 —+— 60
A
40 —
5100 25 — 50 .
g 60 E
E 80 20 —— 36 — 40 —-50 5
E 25 —+ 40 g
= 60 15 1+ 56 1 30 (@)
k= 25 30 R~
o 40 10 — 15 —— 20 25
. d 75— 1o 15 20
z 9 T O [ R 00 T
= 3 s % 15 I
a» 3 —— 3 5 e
500 1000 1500 2000 2200 =
Speed in R.P.M.
NOTE : The results have been obtained using [SO VG 46 oil at 50
In the reversible pumps , threaded ports available R only .both ports same dimension that corresponds to the suction dimension
The drawing above shows a pump turning clockwise .For anti -clockwise rotation sense ;replace C by CC in which case suction and pressure ports shall be inverted




' Pump with flange type 18 Model LA

Hydraulic Gear Pump Production.

SHAFT G04
809-1LA45CGI1&8B OUTLET & INLET B 809
FLANGE 18
_ 131,44 _
39409 12 Fi v 110-120NM P 1064 -
ort facing distance it torque 110-12
M12x1.5 4+0.1 _ | 0omm R49 - -
> / |
-4 2-011
M@z ] [ ~
= i e F - ©39.6
QL i |19.05 O/
T MRS
: O O
4-026 4 ] /
\S ) 57 1. 4-M8x1.25-6H / jam g
\ / Depth Min 1|3.5 mm
L = 101.5-102
D26 O
Spline data L 1795 . O _— O gmiox1.56H
lametral pitc Depth Min13.3 mm

Pressure angle 30° Outlet Q ©/

Teeth number 13 Q) O‘\@SO.S

Involute form ,flat root,side Fit O

Major dia:021.806/021.679

Pitch dia:020.638 Inlet

Minor dia:18.17/()17.89

Unspecifid data acc.to SAE AS84

PUMP FLOW RATE Cont [ntermitent
' MAX Speed
Pump Model Displacement (L/min) Max Pressure Max Pressure :
(cm/Y) 1500 (rpm) (bar) (bar) (rpm)

809-1LA45CG18B 30 45 L/min 250 275 3000

In the reversible pumps , threaded ports available R only .both ports same dimension that corresponds to the suction dimension
The drawing above shows a pump turning clockwise .For anti -clockwise rotation sense ;replace C by CC in which case suction and pressure ports shall be inverted




2 '6 Double pump with flange type 10 Model LL

Hydraulic Gear Pump Production.

SHAFT E01&CO01
OUTLET & INLET B801
801-1LL...-....(C/CC)10B FLANGE 10
: A .
47 | C _
SHAFT E 325 B ) 120,5 .
12,8 i 98,5 e

[
'

I

Model A B i
801-111.36-36C Al 0B 262.4 66 195.1
801-1L145-36C A1 0B 267.4 - 200.1
801-1L1L45-45C M0B 272 .4 205.1
801-111.54-36C Al OB 272.4 205.1
801-111.54-45C A 0B 277.4

- 210.1
801-111.54-54C A1 0B .
801-1LL66-36CA10B 278.9 2116
801-1LL66-45CA10B 283.9
801-1LL66-54C A 0B 288.9 216.6
801-1LL66-66C MOB —
801-11L184-36CAI10B 288.4 2911
801-1L1.84-45C AlOB 203 4
801-111.84-54C &l OB _—
226.1
801-111.84-66C &l 0B 304.9
801-11L1.84-84C A10B v

110

128
150

|
LEC ;4-@11

G40 | Fir torque 11-12mkg

SHAFT C

4-M8x1.2

In the reversible pumps , threaded ports available R only .both ports same dimension that corresponds to the suction dimension
The drawing above shows a pump turning clockwise .For anti -clockwise rotation sense ;replace C by CC in which case suction and pressure ports shall be inverted




2 ? Double pump with flange type 10 Model LD

Hydraulic Gear Pump Production.

801-1LD-||_|---(C/CC)10B
OUTLET & INLET B801&B301
s A -
325 | B _ ) 120,5 .
20,5 20_ . 2o -
e o
b Il
i
O o
® O WA 82
255 Q/? ~D -1
] D26 f |
251/ & = )
j L
4-M10x1.5 | OUTLET IHy | O O
INLET| E.C 24 O p
110 \ © ]
ﬂ AT 4-011
040 ©o{ )0
\ 19 ¢
O 9 E
O O OUTLET
SHAFT C 20| O
40 ) OUTLET
. 40 _ / — 14-M8x1.25
Model A B C Model A | B g Model A B g Model A | B G
801-1LD36-6C AlOB 2207 | 66 | 1697 |801-1LD45-16C AI0B 2368 | 71 | 183.7 | s801-1LDs4-32C MoB 2604 | 71 | 1944 | soriipss-scaion 2467 | 71 | 195.7
801-1LD36-7.5C MOB 2224 801-1LD45-18C A10B 239 801-1LD54-35C MOB 2633 1962 | 801-1LD84-7.5C AOB 248 4
801-1L.D36-9C.AI0OB 224.1 172.2 | 801-1LD45-22CAI0B 243.6 801-1LD54-40C AOB 269.5 199 801-1L.D84-9C AIOB 250.1 198.2
801-1LD36-12C AOB 2273 1743 | 01-1LD45-25C MOB 247 801-11LD5446C AIOB 275.8 201.7 | $01-1LD84-12C AlOB 253.3 200.3
801-1LD36-14C AIOB 279 5 301-1LD45-27C AlOB 249 3 801-1LD54-52C ALOB 282.7 2059 | 801-1LD84-14CAI0B 255.5
801-1LD36-16C AOB 2318 | o 178.7 | 801-1LD45-32C AoB 255.4 189.4 | 801-1LD66-6CMOB 2372 186.2 | 801-1.D84-16C MOB 2578 204.7
801-1LD36-18C MOB 234 801-1LD45-35C AjOB 2583 191.2  |801-1LD66-7.5C MOB 238.9 801-1LD84-18C AOB 260
801-1L.D36-22C AI0B 238.6 801-1L.D45-40C AIOB 2645 194 301-11LD66-9C AIOB 240.6 188.7 | s01-1LD84-22¢ Ao 264.6
801-1LD36-25C MOB 242 801-1LD45-46C A0B 270.8 196.7 | 801-1LD66-12C Al0B 243.8 190.8 | 801-1LD84-25C AlOB 268
801-1LD36-27C AOB 2443 801-1L.D435-32C MOB 277.7 2009 801-1LD66-14C MOB 246 801-1LD84-27C MOB 2703
801-11.D36-32C AOB 250.4 1844 | go1-11.D54-6C AOB 230.7 179.7  [801-1LD66-16C AIOB 2483 1952 | 801-1LD84-32C MoB 164 2104
801-11.D36-35C MOB 2533 186.2 | 801-1LD54-7.5C AIOB 232.4 801-1LD66-18C AI0B 250.5 801-11L.D84-35C M0B 2793 212.2
801-11.D36-40C AI0B 259.5 189 [801-1LD54-9CAIOB 234.1 1822 |[801-1LD66-22CAI0B 255.1 801-1L.D84-40C AI0B 1855 215
801-1LD36-46C AOB 265.8 191.7  |801-1LD54-12C AoB 237.3 1843 [801-1LD66-25C AIOB 258.5 801-1LD84-46C AlOB 291 8 217.7
801-1LD36-52C AIOB 79 7 1950 | 801-1LD354-14C MOB 239.5 801-1LD66-27C MOB 260.8 801-11.D84-52C AOB 2087 2219
801-11.D45-6C MOB 225.7 174.7 | 801-1LD54-16C AIOB 2418 188.7 |801-1.D66-32C MOB 266.9 200.9
: : Lit : 12-14-16-18-22-25
801-1L.D45-7.5C M0B 2274 801-1LD34-18C AlOB 244 801-1LD66-35C & 0B 269.8 202.7 Dimensions MEEG0 27-32-35-40-46-52
801-1LD45-9C AlOB 229.1 I77.2 | go1-1LD54-22C Ai0B 248.6 801-1LD66-40C AIOB 276 205.5 C D E C D E
- Sucti 13.5 4-M6x1 . 4-Méx|
801-11L.D45-12C AIOB 2323 179.3 801-11LD54-25C AlOB 252 801-1LD6646C AlOB 282 3 208.2 Suction 30 X 20 40 X
801-1LD45-14C 0B 2345 801-1LD54-27C MOB 2543 801-11L.D66-52C MOB 289.2 212.4 Pressure 13.5 30 el 12 30 vl
In the reversible pumps , threaded ports available R only .both ports same dimension that corresponds to the suction dimension
The drawing above shows a pump turning clockwise .For anti -clockwise rotation sense ;replace C by CC in which case suction and pressure ports shall be inverted




Double pump with flange type 10 Model LN

Hydraulic Gear Pump Production.

801-1LN...-....(C/CC)10B FERFE Bt
OUTLET & INLET B801&B101
A FLANGE 10
47 C
SHAFTE —— -
T D T— ) 120,5 .
. 98.5 5
| I
OO O (} 3
LM Q Q 5
& | @ il j [_!
Ob@4 .
O ZO i S 7
-M6x1
\ / Pals INLET
@4-M12x1.5 -M10x1.5 | Fit torque 3.75mkg | Q Q
INLET !
\ / — EC 030 \Q G/ !
0&2 110 o11| /
. - 940 AF 3 401
B 2 &
O O
O CD\O 4-M6x1 !
019 OUTLET
OUTLET
4-M8x1.25
SHAFT C
Model A |B C Model A B C
36x6x6
R01-11.N36-1.5CAIOB 201.3 163.6 801-1L.N54-7.5CAI0B 231.9 180.1
66 71 Mb
801-1LN36-3CAI0B 206.4 163.6 801-1LN54-10CAIOB 240.1 185.4 o -
O NI
801-1LN36-5CAIOB 213.1 167.1 801-1LN66-1.5CAIOB 217.8 180.1 NS T
20
801-1LN36-7.5CAI0B 221.9 170.1 801-1N66-3CA10B 222.9 - eHY
49
801-1LN36-10CAI0B 230.1 175.4 801-1PLN66-5C Al 0B 229.6 183.6 - B /
801-1L.N45-1.5CAIOB 2063 801-1LN66-7.5CAI0B 238.4 186.6
: 71 | 168.6
801-1LN45-3CAI0B 211.4 801-1LN66-10C A OB 246.6 191.9
801-1L.N45-5CAI0B 218.1 172.1 801-1LN84-1.5C AlOB 2273 189.6
801-1L.N45-7.5C AlOB 226.9 175.1 801-1LN84-3CAI0B 232.4
801-1LN45-10CA10B 2351 180.4 | 801-1LN84-5CAI0B 239.1 193.1
801-1LN54-1.5CAIOB 2113 201-11LN84-7.5C AlOB 2479 196.1
2 173.6
801-1LN54-3CAI0B 216.4 801-1L.N&4-10C Al 0B 256.1 2014
801-1LN54-5CAI0B 993 1 177.1

In the reversible pumps , threaded ports available R only .both ports same dimension that corresponds to the suction dimension
The drawing above shows a pump turning clockwise .For anti -clockwise rotation sense ;replace C by CC in which case suction and pressure ports shall be inverted




